
HyperShelf Series

115-8939Kit P/N:
Installation Instructions



Rear of Rack

Front of Rack

(1) Truss Head Screw

Outer Rail Bracket

Truss Head Screw

Left Outer Rail Bracket

Right Outer Rail Bracket

Rear of Rack

Front of Rack

Cable Management Arm Kit:
   (1)  Cable Management Arm Assembly
   (1)  50" Velcro Wrap
   (6)  11" Cable Tie
   (8)  8-32 x .500 Truss Head Screw
   (2)  10-32 x .500 Pan Head Screw
   (2)  10-32 Cage Nut

Kit Contents:
   (1)  Hypershelf
   (1)  Cable Management Arm Kit
   (1)  Rail Kit
   (1)  Fan Hardware Kit

Installation Instructions

Step 1a Attach Rail Assemblies:  Attatch the rail assemblies to the rack by hooking the top of 
the Outer Rail Bracket into the top of the "U" space. Secure the rails by installing (1) 
8-32 x .500 Truss Head Screw per side into the Outer Rail Bracket.

Fan Hardware 1x:
   (1)  Fan Power Cord
   (2)  50" Velcro Wrap

Step 1b Secure Rail Assemblies:  Secure the rear of the rail assemblies by installing (1) 8-32 x 
.500 Truss Head Screw into the right and left Outer Rail Bracket.

Rail Kit:
   (1)   Rail Assembly Pair
   (4)  8-32 x .250 Truss Head Screw

Kit Contents

Page 2



Before

After
Tab is nested in cut

out section

Note: Second attatchment
point is located behind the
middle rail. Adjust the middle
rail until the attatchment 
point is visible.

Step 2 Install the HyperShelf:  With the rails fully extended and side panels removed, Align 
the shelf with the rail side tabs and place the shelf on the rails. 

Step 2b Secure the HyperShelf:  Secure the HyperShelf by installing (2) 8-32 x .250 Truss 
Head Screw provided in the Rail Kit into the inner rail attatchment points on each side 
of the shelf.

Installation Instructions

Page 3



Pan Head Screws

Cotter Pin

Cable Management Bracket

Step 3a Install the Cable Management Arm:  Attatch the Cable Management Arm to the 
HyperShelf by putting the Cotter Pin through the Cable Management Bracket 
attatched to the shelf. Secure with the hairpin.

Secure the Cable Managment Arm:  Secure the Cable Managment Arm to the rack by 
installing (2) 10-32 x .500 Pan Head Screw provided in the Cable Managment Arm 
Kit through the rack mounted Cable Managment Bracket using provided cagenuts.

Step 3b

Cable Management Arm Installation Instructions

Page 4



Warranty Statement
Innovation First, Inc. warrants our products against defects in material and workmanship for a 
period of one (1) year from the date of purchase. Innovation First, Inc. liability shall be limited to 
repairing or replacing, at our option, any defective product.

8939


